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Right clip:

vg. qual. in clip:  54.75 >= 10:17,20:8, 30: 826 > —
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Clip. 1 BQ 20 WL 10 Sequence: R31 Clipped length: 843 Samples: 11556 Quality: 0-9 — Page: 2/2

Left clip: 17 Bases: 976 10-19 — 11.09.2017
Right clip: 859 Average spacing:  12.0 20-29
Avg. qual.inclip.:  54.75 Average quality >= 10: 17, 20: 8, 30: 826 >=30 —

510 520 530 550 570
GTCTGTCTATTGTGTAGCTCTGGCTGACTTAGAACTCACTCTGTAGACCAGGCTGGCCTGGAACTCATAGAGATCCGCCTGCC

590 610 620 640 650 660 670
TCTGCCTAACTGAGTGCTGGGATTAATGGTGTGTGCCAACACTGCCAGGCCTGAAAATTCTTTATTGTGGATATTGTCTGTCC

680 690 700 710 720 730 740 750
TCCCCACTACAGGATGGTGAGCTGATCCTTCAGTGACAGCAGTCCTCTTCTTTTATTTGTGATGAGTAAAAATGT O CCTCTCAT

760 770 780 790 800 810 820 830
GAGAAAAATCACTCACAGTTGAAAGCCAGTACTTACTATAGCAGAAACACTATTTATTTACTTAGTTGAATTTTT TTGTTGTTT

|||||||| T
840 880 890 900 910 920
TAAGGCAGGTTCTTATGCGGGGGACCAAGGGGCACAAAATTTTTTTTTTCCCCTTCCTCTTTTTTCTCTCTCTTCCTTCTTCTGCTCT

930 940 9 960
ctrrccccrTTCcTTCTTCCTTCTTTTTCTTCTTTCTTTGTCCCTCTTTTTT




